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treated as case of unfair means.

SECTION A (3x1=3)
Q1. [
a. When and why medium-term scheduling is perfo 7 "’
b. List only two factors that need to be conmd od
multiprogramming in a system?
¢. What scheduling policy will you use fors yt the foliowing cases? Explain
your reasons for choosing them. )
1. The processes arrive at large ﬁ %nervals
ii. The system’s efficiency 1smea§&red by the percent:ge of jobs completed
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Q2.

a. What distinguishes sj’}s,tem«c Is (like write) from library Zunctions (like printf)?
Explain how syste;&géﬁi}*are implemented?

b. What is context & E&ung" Differentiate between the prc:ess context switching
and thread cbn *sw1tch1ng‘?

c. When the CPU tecelves an interrupt, how does it determm.ne what instruction to
exegute tlie > next?

SECTION C

Consider the following events and answer the questions that follcw. Assume there are 5
processes, all either in the ready or running states initially. Assume the processes are
using a single core processor.



~ At time T5: P1 executes a command to read from disk 3.

— Attime T15: P3’s time slice ends.

— At time T18: P4 executes a command to write to disk 3.

—~ At time T20: P2 executes a command to read from disk 2.

— Attime T24: P3 executes a command to join with P5.

— Attime T33: An interrupt occurs indicating that P2’s read is complete.
~ Attime T36: An interrupt occurs indicating that P1’s read is complete.
- At tlmc T38: PS termmates

For each time T22, T37 and T47, identify which state each process 1s€§m;? If it is waiting,
indicate what 1. is waiting for? e

Q4. Find the porssible output of the following given prograrﬁ @fcan assume the
program comyiles and is able to produce at least one af \eqo\titput shown. Briefly

explain your zuswer. . , g ) [1.5]
: ""% A

int main{int argc, char @*:?

{ { i sg’kwg
int a = 12; ’% *
int b = 5; \ i

pid t pid =

&%E’ does this output? */
PI'

intf {stdout, "In parent, a = %d\n",a);

%‘\x ﬁp%lntf(stdout "In parent, b = %d\n",b);
a = a + 3;

fprintf (stdout, "In child, a = %d\n",a);

fprintf (stdout, "In child, b = %d\n",b);

Qs. Assumeﬂ.yeu 1ave to execute the processes {P0, P1, P2, P3, P4} with arrival times are 0,
10 ;fQ 30 85 seconds, and their CPU burst are 80, 20, 10, 20, 50 seconds respectively,
a smgfe core processor machine, Suppose a system uses round robin(RR) scheduling
“i/&fh a quantur: of 15 sec. Answer the following: (3}
%?‘ Find th= average turnaround time using RR.
" C Find ths average waiting time using RR.
d. Find ths average response time using RR




